RS R Eeprepmeam——
Hlﬁmaﬁmaﬁﬁql

(1)
—12)
(4)
(5)

2. ﬁqmmmmﬁxa;mmqaw
- HEE S 2

(1)
(2)
(3)
(4)
(5)

3. mwlmﬂ%mtlmwmﬂm
§HA I g #) e § ameh zden
form & 5 R 1 38 5 R % smm ) smamwm 2
¥ ffafes # 8 S5 siad 50 2

-

(2)
(3)
(4)

(5)

4. AN, B,CDEsmrpoatmd ©Da g
RN TR | B D o W H E
BEAWRICFTIAT0R  paa sty

Follow us on Telegram - "IndiResult.in”

SUPERVISION
NERVOUS
RESIGN
POISON
REVISIT

I 2 9w

0,7,26,X, 124, 215
63

60
65

62
I A 2 e

M W 5 &7 w1 wdaw w3 sk 3n:
faferem =g &1 oft syram &t |

H9 3I/ N0 F e 20
M 38 5 fom & fore Ffam = 30

AW 5 & fo o 3 g woam
fere i |

I =

Fa3m C

Find out the word which can be fgrmad by using

the letters of the given word.

SUPERVISION n '
(1) NERVOUS (//' INDIRESULT
{2} RESIGN /ﬁvnuu SUCCESS PARTNER
(3) POISON
(4) REVISIT

(5) Not attempted

Which number will replace X’ in the given
numerical series ?
0,7, 26, X, 124, 215
(1) 63
(2) 60
(3) 65
(4) 62
(5) Not attempted

You are the owner of a restaurant. Ohe of your
delivery boys met with a minor accident while
rushing to deliver the food on time. He needs rest

for 5 days. Which of the following actions you will |

take ?

(1) You will give him paid leave for 5 days and
will also pay for medical expenses.

(2)  You will terminate him from the services,

(3)  You will suspend him for 5 days.

(4)  You will ask him to go on leave without pay
for 5 days.

(5) Not attempted

‘AL B 'CL D, E' and ‘F° are six persons. ‘C’ j

older than ‘D’. ‘A’ is the youngest. ‘B’ and :D’ )
of equal age. ‘B’ is older than ‘B’ « i8 yo e
than ‘F". Who are older than ‘B’ 9 e

(1) (1) FandC
(2) C3¥WD | @ candD
(3) O Bﬂ'{ E Follow us on Telegram - "IndiResult.in (3) Cand E |
(4) FIME @lNDlRESU T W FandE
(5} mqﬂmm& f _.v_nun SUCCESS PARTHNER {5) Nﬂtammpted

C

S
Ve

Q

7.

C} Scanned with OKEN Scanner
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wmﬁuﬁmmwﬁﬁmmmamﬁﬁ

safeyd 60 I 8 0 w1l wee = o %
G NAEHR
1 2 3 45 6

1 356241 AU LN 9
(2 531,246 Y pYMeh
(3) 5,3,2,1,4,6 WYHWJHeh
4) 5,831,264 \»\Q‘D\JLCL
(5) I T AT =R

- Fafefaa o fim ug 39 Fifse |
(1) 3 -JEN
(2) @WVEA - FHl
(3) TEH - FHA
(4) ST — F1Y
(5) I & &A1 =TEd
fi| &R ‘ANGLES’ %1 ¥4 ‘GNASEL' ® #, 3¢
THR ‘SQUARE’ %1 @&y foe@ & ? |
1 uvaesrea U 0 SCn
_¢7) UQSERA
(3) UQSARE

(4) USQERA
(5) IR AL &A1 =TEd

ﬁum*BLUNTmﬁduqnuTn'ﬂ%,:rmm
‘SHARP’ &1 g9y frad g ?

(1) AhSpR

(2) HspaR

(3) PraHs

(4) hSaPr

(5) IR TE & =Ed

| cqrsoPHNLDi#+12845
XYZABERQ ot s Freafeia 3 @

L
-

_A1) H @lNDlREsu T

YOUR SUCCESSE PARTHNER

;ect the combination of numbers g, that the

?Ettefs arranged accordingly will
5 |

meaningfu]wurd:
g N AE H R .

; 2 3 45-6 1
3, 5, 6,2, 4,1 . £
53,1246  '(H)INDIRESULTE
5, 3, 2,1, 4,6 LT
5, 3, 1, 2, 6, 4

Not attempted [ ¢

form 4

(1)
(2)
(3)
(4)
(5)

Find the odd one out.

(1) Brick - Wall

(2) Auditorium - Chair
(3) Petal - Flower

(4) Finger - Hand

(5) Not attempted

i

‘ANGLES’ is related to ‘GNASEL’ in the same
way as ‘SQUARE’ is related to ? .

(1) UQSREA ‘

(2) UQSERA

(3) UQSARE

(4) USQERA

(5) Not attempted

BLUNT is related to 1BuTn’ in the same way as
‘SHARP is related to _? .

(1) AhSpR

(2) HspaR

(3) PraHs

(4) hSaPr

(5) Not attempted
XYZABCQRSOPMNJHI#—:-12345

Which of the following is third to the right of the
element which is exactly in the middle of the

given sequence ?

(1) H

(2) M

3) N

4) J

(5) Not attempted_

(2 M
3) N
4) J
- 7% FTd & feru T | SPACE FOR ROUGH WORK
RAMA/C1/Page
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11.

12.

- (3)
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(5)

afe feet P VT | ‘over and above’ # ‘da pa ta’

3 ‘old and beautiful’ #} ‘sa n@ ﬁﬂmmt
a3 e w3 ¢ ‘and’ ®1 T8 v ferar smom 2

(1) na

(2) da

pa

(4) ta

(6) IW AF &1 =R

m%amﬁqihmmmmﬂiiﬁﬁwmmmﬁ
ahﬁzﬁaﬁa%qaﬁalaﬁéﬁamaﬁﬁ
mﬁaﬁﬁﬁmmmﬁaﬁaw

10.

11‘-

12.

Find the odd one out which is coded differently,

(1) PLAY:YPAL

(2) HOPE : EHPO -:/leDI ES

YOUR CCESS PARTHMER

(3) TUNE:ETNU

(4) MORE : ERMO

(5) Not attempted

In a certain code language ‘over and above’ is
written as ‘da pa ta’ and ‘old and beautiful’ is
written as ‘sa na pa’. How is ‘and’ written in that

code language ?

(1) na

(2) da

(3) pa

(4) ta

(5)  Not attempted

On Ajay’s birthday, chocolates were to be

distributed equally among 100 children, He could

distribute to 70 children only so that each child

sfafte e v% | faaw % TFIQ FA ot wisae got 3 chocolates extra. How many ¢,
m;';]?o;/ us on Telegram - "IndiReSult.in" chocolates were available for distribution ? -
(1) 300 1) 300
o @morresuus -

(3) 210 3) 210
(4) 900 @ 900

_ (5) 3 A & A 1 ® Notattempted
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- e “Tae 3 v fom (2) % e w |18

-5 g H 9
27,216, 729, ? , 3375
(1) 20736 s
2) 1729
A5 1728
(4) 1500 | h
(5) IO &I AT =TEd

14. Fr=feafias # fim g R 2 ?

5,"15720,'24,'25

(1) 25 .
(2) 15
(3) 20

(4) 24
(5) IR AT &A1 <rEd

o ol ¥ are A frewd few TR | AR A
aﬁﬁﬂﬁaﬁ%@ﬁmﬁﬁmmﬁgu@ﬁm
W%aﬁmmﬁﬁ-ﬂﬁﬁﬁﬁqwm

3 faerd & |
Fo7: FO @R AHAE |

FO FN T ¢ |
mft T Fel B |

ey . (D ﬁﬁzm’ﬁ_it
an FoFR TR

(I @mrﬁz’é.l

14.

:ch number will come in Place of the question

mﬂfk (?) in the fﬂllﬂwing numerical serjes 7
97,216,729, 2 3375

—

9 .

2 172 - _

(3 1728 Q’O'N IRESULTH
(4) 1500 .

(5) Not attempted

Find the odd term out.
5, 15, 20, 24, 25

(1) 25
2) 16
3) 20
(4) 24
(5) Not attempted

15. Three statements are followed by three

conclusions. Take the statements to be true evlen
if they seem to be at variance from the commonly

known facts. Decide which of the given

conclusions logically follow from the given

statements.
Statements : Some plates are SpooONS.

‘Some bowls are plates.

All spoons are bowls.

Conclusions : (D Some plates are how'l_s..

(II) Some bowls are spoons.

(I1II) Some spoons are plates.

Follow us on Telegram - "YndiResult.in"

(1)
(2) %mrlaﬂznﬁamﬁ% .

(@) e 11 3 1L P %@!ND'BESQRIQ

(1) All 1, TI and III follow
(2) Only I and II follow

(3) Only II and III follow
(4) Only I and IIT follow

(4) Sarer 1 3 111 Frerd 2 R (5) Not attempted
. EL T ﬁ?“ﬁ —————— | SPACE FOR ROUGH WORK ) )"L
RAMNcuPagﬂi)J ) - s \%‘ %1 ) 6/\6_ IHL/
1Y \9‘ ¢ {.u / A '21.-"

= W

G Scanned with OKEN Scanner
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8 &q“‘!ﬁmwﬁmﬁawaﬂ%mm 19. mﬁﬁﬁﬁam‘ﬁ’w?:
B3 & 2 (1) et TSt @1 FgenT; & 1 =18 |
(1) 2 figedd 30 3 % 2 | - (2) _éa,mﬁm,m_wmgmmiﬂmm:
| (3) B! eTeH, 3UT I3 |
(2) 17
kb (4) 37 f&t, ameht, i o= yrar STt 2
(3)  F® A 3o i 7 R R P,
(4) 7% famm 2 & g squ @ fas 78 |
(5) I T 3 = 20. NI 312z 4 v Terw @
(1) =
(2) 7%
(3) 3= g
17. F8 % gl & e & i wH & forg @ e
R wEg 1 waifus vy faem we gAY | & vy
1) Fw |
2 3 21. fou my fem ez & swmd’ @1 swge wanr e
22
e (1)
CILE|
@ W3 (2) WA
(5) 3 7€ 271 wred (3) @
(4) |
(5) I A€ 37 =9mER
18. mﬁﬂﬁ?ﬁ!mqﬁ’t
(1) 34 22. ‘ﬁmﬁmﬁwmﬁi’:gﬁ.ﬂqr
Wﬁw,wﬁﬁ“ﬁﬁ%wmm
(2) & ] AP B 2 o6
@ v () INDIRESULTE 1) e s
(2) =fots s
(4) TEYOT | SETHR
(3) IAIIH IAHR
© A (4) T STEHR
-~ (5) IWTE W
RAMA/C1/Page 6 w mm s e
*PACE FOR ROUGH WORK -
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03, it safts o A @ A ¥ forg 3@ v
Hifse |

(1)
(2)
(3)

(4)

(5)

24, e vedl # & T8 W H T HIC

(1)
(2)
(3)
(4)
(5)

(1)
(2)
(3)
(4)
(5)

26. ‘mﬁjmﬁﬂﬁmm:

o’ vz ¥ feru 3 watETe) e i T BN |

A1
I
JHATEl
HAT

Fe T8I 21 <ATEd

S ICINIED
LHED
YTHTTvT

M EIED
I A€ &A1 ATEA

At
dedt

I AET &1 =TEd

27. €
ft 7
(1 a . |
@ (#)NDIRESULTE
3 |
@)
(5) 3o €1 0 =
(1) w_mmﬂmﬂﬁm
(2) Eq AT B
@3) wEd LR &
(4) aga HE &
(5) I FE & e

(3) wd 3 feam
(4) al I feea
(5) I A &A1 =TEd

Follow us on Telegram - "IndiResult.in”

30. mﬁmﬁmm#wﬁml

>z i
(2) H 1 I o

(3) W & foe 3@

(4) A W IH . (4) T |
5 mdzman  CHINDRESUTY  © I Imm |
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31. 85. Choose the word which is opposite in meaning ¢,

: o orm of the
hﬂﬂ-EJE t,hE correct passive voice form 0 the word undﬂ'rlin'ﬂd.i

fullnwing sentence.

Sheetal will have finished the work. She is slender in figure.

(1) Sheetal will finish the work in due M (1)  slim
(2)  The work is finished by Sheetal. (2) strong
ii; 'El: “::: :i“ be finished by Sh;ﬂt:‘:l'led - (3) frail
=R will have been 0P (4) stout
(5) Not attempted (5)  'Not attempted

32.  Pick out the part of the sentence which has an
error. If there is no error, your answer 18 (4).

36. In the following question, out of the four

alternatives, choose the one which can be
substituted for the given sentence. '

The simplest method

A A
of welding two pieces of metal together -An apartment building in which each apartment
= Is owned separately by the people living in it, but
_ also containi o
1s known as pressure welding. D o 1 ng shared areas.
o aravan
1) C (2)  Condominium
(2) A (3)  Multiplex
:i: B | (4 Duplex
N &
o error (5)  Not attempted
(5)  Not attempted :

33. Rearrange the following parts of a sentence 37. Choose the word which

labelled as PQRS to make a meaningful the word underlined.

-“E .
P.  deeds is to be arthquakes are frequent in Japan.”

1
Q. on to the future ' i

is opposite in meaning to

R.  the power of noble (2)  extinct

S.  preserved and passed @) unusual

(1) RPSQ (4) few

(2)  RsSQP (5)  Not attempted

(3) SQPR Follow us on Telegram - "IndiResult.in”

(4) PQSR 38.

. Choose th : .
(5)  Not attempted . o\ternative which best expresses the

Mmeaning of the underlined idiom_

, Her speech

34. Pick out the correctly spelt word. D reat 1iE always full of ta) stories.

(1) Outrajious talistic storjeg

{2} DULI'EHEUUH -'l ) {2} lﬂl'l t l

e E lales

(3)  Outrageoyg Qa !NP‘I‘B‘*—E‘§““I“ (3) " herojc stories

(4) Outragous (4)

(5) Not attemptog o Xaggerated tq)eq

- — Not att
RAMA/C1/Page 8 T ot o — “Mpted
- T4 % o verr / SPACE FOR ROUGH WORK -
4 '
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‘Rem’:i | the fnﬂuwing passage carefully and answer
questions 39, 40 and 41.

India is one of the oldest civilizations of the world, |*
which offers a kaleidoscope of cultural experiences. The |

country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
the tropical rain forests of the south covering
32,872,263 square kilometers. It is the world’s seventh
largest country, distinguished from the rest of Asia by
mountains and the sea which gives the country a
distinct geographical identity. India showcases a
variety of heritage resources crafted hundreds of years

ago fro ites to pristine sea-beaches.

tantial ecunnn:u‘l{ sn‘éal,

yates to our

e above passage which
y, traditions and culture

(#)DikesuLTE

42. The old man 1s looking forward

R B
& @14 % fere TuT | SPACE FOR ROUGH WORK

e o e S

——

__-_--_‘-_'_—-—-—

visits of his grandchildrep, e .-
(1) with |
(2) for . |

@ i @ nowesute
(4) to |

(5) Not attempted

Choose the most appropriate preposition to fill in
the blank.

She succeeded dint of perseverance and

hard work.
(1) to

(2) for

(3) from

(4) by

(5) Not attempted

44. TFill in the blank with the appropriate option

given below.

The Battle of Waterloo was won of
Eton. '

(1) in the played .

(2) with the play field

(3) on the playing fields
. (4) f{;r play fielded

(5) -Not attempted

45. Pick out the correct indirect speech form of the

following sentence.

«I have bought a house,” he said.
(1) He said that he would buy a house.

(2) He said that he had bought a house.

(3) He said that he has bought a house.

(4) He said that he bought a house.

(5) Not attempted , A

Follow us on Telegram - "IndiResult.in”
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What is the One Time C

ash Award for Mahavir

P ;m::ﬁ for :jﬂ; g e TN Chakra Awardee >
D 60000000 W 60000000 (HINDIRESULTE
@ % 2,00,00,000 @ ¥ 2000000
(3) ¥ 1,00,00,000 (3) ¥ 1,00,00,000
(4) ¥ 4,00,00,000 4) 7 4,00,00,000
(5) I €I AT TR (5) Not attempted
@ B # Usy uaft @ R 2 47. What is the State Bird of Haryana ?
) =TT (1) Black Francolin
/{ﬂE) gie M (2) House Sparrow
(3) W (3) Great Egret
(4) wit gt (zfim @) (4) Humming Bird
(5) I & 31 =& (5) Not attempted
ﬁ efmom .ﬁ &1 98 W% Hal fedd B ? 48. Where is the Blue Bird lake located in Haryana?
=1) A= (1) Karnal
(2) faam (2) Hisar
(3) i (3) Jind
(4) WwieEeE (4) Faridabad
(5) I T 21 |TEd (5) Not attempted
' 49. Which city is known as the ‘Heart of Haryana' ?
49. :Friz;r‘gfmwnmf&a’mmﬁ? 0 Panchkula
(2)  fETE (2) Ambala
(3) iz (3) Jind |
(4) TgTE (TEEM) (4)  Gurgaon (Gurugram)
(5) IR JE 241 9Ed (5) Not attempted
50. The climate of Haryana is :
5o Warm € m:ﬁ ﬂ% : (1)  Sub-Humid Sub-Tropical type
b W’; A e (2) Continental type
2 ﬂmﬂ o 5 (3)  Sub-Humid Temperate type
@) e mﬂ 5 (4)  Sub-Tropical Dry Continental type
/ {(::; m 3: e i (5) Not attempted
ghamn % fra o 4 waifies aui 2dt 2 2 61 Which district of Haryana receives the highe!
rainfa]] ?
@4 Y P ' (1) Bhiwani
’;? — > (2) Hisar
) s (#)NDiResuLTE ® Ambu
(4) FREA @) Kurukshetrs
(5) 3 T ¥ = | (5) Not attempted
RAMA/C1/Page 10 T T4 3 g ur / SPACE FOR ROUGH WORK T~
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52. FRITM guEdl U9 AuEEN, 1994 % = X %
Far Ffefea § 8 #R- affy qama affy go
g 7gF 6 st 2
(1) o=, san-vlen (Hif2e) e am afifiat
(2) smfaw = g
(8) wm= wiufa

(4) w@Ewed wE Heaw wffa
(5) IR @l 1 |TEd

AT AT e s el feaa @ 2
(1) F9=

(2)
(3)
(4).
(5)

I—c; 1I-b; [11-a; IV-d
" 1-b; H—¢; UI-d; IV-a
[-a; 11-d; I11-b; IV—c
I-d; 1I-a; II'I—h; IV-c
(5) o 7 T

52.

53.

54.

55.

Which of the following Committees is not
appointed by the Panchayat Samiti aceording to
Chapter X of the Haryana Panchayati Raj Act.

1994 7
(1) Finance, Audit and Planning Committees

{2} S{}Clﬂ] Ju;it-ice Cnmmitt&e

(3)
(4)
(5)

General Committee
HEﬂlth and Welfare Committee

Not attempted F//: . s
7¢)INDIRESULTE

Where is Baba Ladaana Tirth Sthal situated ?

(1). Kaithal .

(2) Rewarl

(3) Jind

(4) Ambala
(5) Not attempted

When was the first permanent Lok Adalat set up
in Haryana 7

(1) 15t November, 1966

(2)
(3)

(4)
(5)

17th January, 1955
10t® May, 2005

7th August, 1998
Not attempted

h the ancient names of the districts 1n

i Column I with their present

Haryana given in
names in Column II :

Column 1 Column II
L. Sairishaka a Sirsa
[I. Kanoud b.  Kaithal
I1I. Kapisthal c Panipat
V. Panduprastha  d. Mahendragarh

[-¢; [I-b; III-a; IV-d
I-b; II—¢; III-d; TV-a
[-a; 11-d; III—-b;'I‘_‘J—c
[-d; II-a; III-b; IV
Not attempted

(1)
(2)
(3)

(4)
(5)

RAMA/C1/Page 11
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= semt o fram i -
@) <, e 3 fffa s mem st
(b) ¥l % 78 %9 B gerrd) 3@ AT

56.

Consider the following statements :

(a)

Chope is a style of shawl manufactureq i,

Haryana.

3 (b) This shawl style is also known as Phulkarj
| p
Which of the statements given above ig/are
39 H | FHw1/A T wh R/E 7 correct ? .
(1) (a)wd (h)F 3 . ’
@) ¥ (a) I 7 (1) Neither (a) or (b) %INDIRESULTE
@) Fa (b) (2) Only (a)
Wr. (a) T (b) O (3)  Only (b)
(4) Both (a) and (b)
(5) I & &1 =rEd
o (6) Not attempted
@ a7 9 v | 67. When was the famous Badkhal lake of Haryana
' devel
(1) af 1974 % (ITE ;’pelil;
(2) a4 19409 n
.(g)/_ 9 1947 (2) In 1940
(3) In 1947
(4) =4 19501
(5) TN ?ﬁ a:" Eﬂ@a (4) In 1950
(5) Not attempted
58. @AM F FA-E g w9 fim IR wEd B EwidE e
29 58. Which dance form of Haryana is dedicated to
. i i 9
(1) iR g ihvaﬁﬂnd Pa:I:ratl
(2) G I (1) _ﬂngjlr ance
(3) == 9= (2) Manjira Dance
(4) @I I (3) Lasya Dancﬁ
(5) I W'Eﬁ am ETEﬂ (4) Ratwai Dance
| (5) Not attempted
59. 1770 3. ¥ Tfla-3gden 4 H g .
WﬁETFFl %ﬁ fﬁ?ﬂ " . ﬂ Ll 59. After the dEEt-h of N ﬂjib‘ﬂd'DﬂWlah in 1770 AD,
: wh d ' 9
W et fiten o acended bis trone
@) e (1)  Mahadji Scindia
(3) faa o (2)  Ahmad Shah Abdali
| 4)  Najaf Khan
B P (5)  Not attempted
60. mmwﬁwﬁmmﬁqﬁmg? 60. Where ig the .
C
(1) gy (1) Waist hihaj ornament worn by women ?
(2) wg) (2) Forehead
(3) &  Follow us on Telegram - "IndiResult.in” (3) Neck
@) & - (4)
% Hand
5) el ey ()INDIRESULTE © Nt attompg

RAMA/C1/Page 12
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oy, aferon S W, 2021 - 22 ¥ srgER g

(1) 24
(2) 25
(3) 22

(4) 23
(5) I A A1 9@

gftamn % T FYRE W W wwg e (NBHM)
v 1 gwaa fbg o i g 2

(1) 2017 |

(2) 2020

(3) 2018

4) 2019

(5) I @1 &1 9Ed

“CgRT Tia, ST Aie AT o Aerid St 2022 T
s TIial @ WS T @ ?

(1) 3,560

(2) 3,216

(3) 5,569

(4) 4,806
(5) I AL &1 =TEd

64. gﬂ'awnﬁﬁga:m‘maﬁﬁgmﬁw 2021 — 22 T
fepertt 2 2
(1) ~ 73,07,992
(2) 68,57,609
(3)
(4)
(5)

3 Rrefra-ad 2022 - 23 # FA T

gf{qwn C[F [
N O o % & # ¥ P e

61.

62.

- (4)

many District Level Treasuries are there in

How nd ﬂccurding to the Har}"ana Economic
IS{LT:V}’E}" 2021 - 2217
1) 24
2) 25
@3) 22
4) 23
5) Not attempted
tional Beekeeping and Honey Mission
I;.?BHM) gcheme was started in which year in
Haryand
(1) 2017
(2) 2020 /'..
w 2018 (F)INDIRESULTE
(4) 2019
(5) Not attempted

How many villages have been aasuc:iated with
“Mhara Gaon, Jagmag Gaon’ Scheme till January
2022 ?

(1) 3,560

(2) 3,216

(3) 5,669

4,806

(5) Not attempted

What is the total number of electricity consumers
in Haryana till 2021 - 227

(1) 173,07,992

(2) 68,57,609

(3) 71,17,384

(4) 72,17,283

(5) Not attempted

percentage of the total expenditure

What is the S e

allocated towards Education 1n

by ' 022 - 237
TR ? Follow us on Telegram - "IndiResult.in’ Budget for the financial year 2
(1) 1.5*2% (1) 152%
' | 18-2%
(2) 182% F// 1 (2)
Z)INDIRESULTE (3) 16:4%
@) 16:4% 2+ \NDIRESULTE
14-2% . (4) 142%
% FaT T <TEd (5) Not attempted _
(5) 2 B
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Fg]}éw us on Telegram - "IndiResult.in "ﬁ 44|66, Sportsperson Seema Pu:iﬂ Antil hailg frop,
66. faensi «fim g aiﬁamrun%ﬁmﬂh which village in Haryan® -
Tadt & ? (1) Kaluwas .
1) g @ Upant  (H)INDIRESULTE.
(2) 3= (3) Khandra -
(3) @r=U (4) Khewda
(4) wEF (5) Not attempted
(5) et 7dl &1 =Ed P 617, in which year was SAI National Boxing Acader,
67. i ULy witwan Fwred (TEaw) g (Rohtak) inaugurated ?
&1 ? (1) 2017
(1) 2017 - | (2) 2019
(2) 2019 ' (3) 2018
(3) 2018 | (4) 2016
(4) 2016 e ' (5) Not attempted
(5) IR AE &A1 o & @7/ 68. Which among the following persunalitiafu from
8. f=afafiagd § 4 gfamn o e Haryana received the Padma Shri award in 2022
5 2022 %1 v o W e Fe in the field of sports ?
(1) T e + (1) Yuvraj Singh
(2) e fiE (2) Sandeep Singh
. (3 g e (3) Sumit Antil
- A4) T g | (4) Bajrang Punia
(5) JaT A€l &1 =TEd ' (5) Not attempted
689. 2010 # feda & gfmn # ?@ﬂ T b gt 69, Which language was accorded the statlug of the
foam T ? | second official language in Haryana in 20107
(1) efemrEl ' | (1) Haryanvi
(2) 3 | | (2) E!:zglish
3) 3{ - (3)  Urdu |
: (4)  Punjabi
J) (5) Not attempted
(5) I T8l & =ed / Follow us on Te%%j%m - "IndiResult.in”
70. 2015 § frefrar 1 7 fo femordt fsem @t a1 e | 70- Which ffﬂryanvi film released in 2015 recei"f'"
0 two National Awards ?
- JEHR A L T (1) Veer Ghatotkach
(1 TR : (2) DBeera Sh
) I - (3) Chand c::ri j
@ = @NOIRESULTE | (o) paga
JA) il () Not attempted

(5) I ARl &A1 =T L
RAMA/C1/Page 14 = @7d % feru wara | SPACE FOR ROUGH WORK . |
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3216 + Y729 + Ye4 ) ;
71. (3!1331 x 3216 +E{ﬁ+§{6—4') ilTFil‘{'B : 71. (%ES‘I X )IE equal to -

9088 .

(1)  90-88 (1) /"
62 9

(2) 1362 @ 130 QO!NPJBEW!-TTE
3) 79 (3) 72 :
4 : (4) ¥
(4) 14-82 p—
(5) I 7 <A =Ed (

| 79 There are three positive numbers.” One-third of
i | = A weeit & ohag | he average of all the three numbers is 8 less

ueh-faerd, wed @ dew & 8 wm R | ged YA e than the greatest number. The average of the
I gl el o1 wEn w1 oitma 8 ¢ | wAw W smallest and the second smallest number is 8.
semwe? | What is the greatest number ?

(1) 14 U \'L | (1) 14

2 9 | (2) 9

(3) 10 (3) 10

@4 1 (4 11

5) Not attempted
(5) IR TE 21 =Ed (

T -ﬁ .73. Mr. X has some money with him. He has to
wﬁ et 81T Wt distribute this money among five labourers in the

med L. 1.1 1y s i 1 1 1 1 1 . .

R R H afeT = 0 =+ — ! — : — : —. What is the minimum
2 3 4 5 17 ratio 29°8 45 1T

| 35 T FAAFA fE e gl fe, amount he should have, so that each labourer

et e gl &1 01 W H ¥ W A 2 gets an exact number of rupees ?

(1) <599 ' (1) T 599

(2) 7358 o ) (2) 358

(3) T 420 (3) T 420

(4) <512 (4) %512

(5) I 481 E 9Ted (5) Not attempted

Follow us on Telegram - "IndiResult.in”

74. If the income of A is 10% more than that of B @d
the income of B is 20% less than that of C, then
the incomes of A, B and C, respectively, are in

4. af: A & @, B H @@ @ 10% fuw 2 991 B H
3, C & 31 A 20% F4 B, @ FAM A, B a91 C

aﬁmﬁaqgm%: the ratio :
(1) 22:18:25 /'. (1) 22:18:25
%
(2) 11:10:8 @INDIRESULTE (2) 11:10:8
37 22:20:25 ' (3) 22:20:25
.5 4) 10:9:7 4) 10:9:7 |
(5) 3ITC BT 21 =9TRd "~ (6) Not attempted -
—— — ———— — ——
RAMA/C1/Page 15 T % & féTy ¥ | SPACE FOR ROUGH WORK U 'L
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610_”1% .Ha"'lﬂ\J \"Mj \2 | QL ;

(% Scanned with OKEN Scanner



.....

75.
WWWWM?EﬂﬁEﬁQﬁ“

(1) 42 x4

18 34
21 ¢
38 94

6)  IW 7 & wmd

(2)
(3)
(4)

6 e i e g W w
0 R F W oww s oam TR
T TS 8 : 6 4 | 2 eh A A W &

ve

n"
76. A’ sum of money at simple interest doub)eg

7 years. It will become four times in :

(1) 42 years

18 years Q’O

21 vears

(2)
(3)
(4) 38 years

(6) Not attempted

amount of digging in

76. A man ang a boy together

1

INDIRESULTE

Yo

SUCCESS PARTHNER

UR

can do a certain
40 days. Their speeds in

TR digging are in the ratio 8 -
o =T i, e v ) e 0 iy r.: rathl@ : 5. How many days will
¢ :
ST 2 s omp fﬂte the work if engaged
(1) 104 '
(1) 104 days
(2) s52fH
(2
(4) 8o faq (3) 68 days
(6) 3Iwx 7o 21 S— (4) 80 days
(5) Not atte mpted
1. :
;12& rz%mm T 135 3 fretmmy € <
TN
R’ﬂiﬂiﬂﬂmﬁmﬁ 1:1:2%77. Teawnrth?lzﬁpﬂrkgand?
= ﬂ E””WIﬂﬁﬁ’ -m' . : lasperkgm
- AT H R T 153 W ixed with a third varjet :
!'ﬁmmﬁmwyﬁ 11'2I_fth . }rﬂft&ﬂ in the ratio
| t : I FefITe Hed ' - & € mixture is worth # 153 per kg th
Price of the thj ; , the
(1) 189 S ird variety per kg is -
®  (#NDIResuLTE M) * 18000
(3 Follow us on Telegram - ’TndiRésu]t.jn’ ¥ 169-50
) ¥ 17000
@ #17550
4) = 17550
. 6) 3Im T 7 - ‘

% %74 % vy zerr / SPACE FOR ROUGH WoRk

nt

f"

\'),(a;' \35 .
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R R giafeua s & % see@ o = |86, Which of the following is used to ensure accuracy

fed) aon fovawda R 9
ERESTE
ey Sh

T AL
i1 feaemd

R AR <A1 AT

faa # & - o gfei fe smgdfeerr
HER R ?

m@w@ugmmm#m
AE F 3 70F 8 TEEH T Ghal © |

Te Framl = v W @ Fes g 99 WA
i 92 gU 99 Yol 1 W foran S weh R |

T8 A9 T ITCR VAF HEA % A g

(rfedr) wgE s 9g R |
7 ek e 2 g e AR
) IR AR &A1 =Ted

e, fam o AR T A freeh e @ 2
1) wEEd |
4)
(3) WETE
(4) WiFREA

<TEd -
(5) I A 6:/0 INDIRESULTE

feffaa i a S ad w2 ?

(1) fremEge > ez > frmare > e
@) T > e > A > i)
(3) m}m}m}m_},
(4) mrﬁmM}m}ﬁm?m

=\ IEL TR S AR

llllllllllllllll

@) Database Schema(3%) INDIRESULTE

(3) Database Constraint
(4) ~ Data Dictionary
(5) Not attempted

7. Which one of the following statements is correct
aboﬁt Uniform Resource Identifier (URI) ?

(1) ‘It is a unique address that can be used to

and reliabillty of data in the database ?
(1) Database Instance :

uniquely identify each node in a network. I
(2) Itis aset of rules which is used to retrieve E
linked web pages across the web.

(3) It is a umgque address or path for each
resource located on the web.

(4) It is a unique value associated v._rith a
network 'adapter.l | o /

(5) Not attempted

88. Google, Bing and Yahoo are examples of
(1) Firewalls

(2) Search Engines

(3) Mobile Applicatiqns

(4;] Software

(5) Not attempted

Follow us on Telegram - "IndiResult.in”

89. Which of the following is the correct sequence ?
(1) Petabyte > Zettabyte > Gigabyte > Terabyte
(2) Kilul;uyte > Petabyte > Yottabyte > Megabyte
(3) Megabyte > Kilobyte > Terabyte > Gigabyte
(4) Exabyte > Petabyte > Terabyte > Gigabyte

(5) Not attempted

(% scanned with OKEN Scanner
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82,
. 14ﬁ-ﬁanﬁm3-5rﬁ+“‘m1§ﬂat{$mamm

(1)
(2)
(3)
(4)
(5)

% 1,09,800
T 1,00,208
¥ 1,07,800
¥ 1,08,000
IR T 2 =

83, Aﬁras.unommmn'WM| 5 HIE %
Eg.maﬁﬁmmﬂﬁﬁmmﬁ
iaﬁfﬂamﬁ?zz,ﬂmwﬁm?ﬁ“'

ﬁnﬁﬁﬁa—sﬂnﬁr
¥ T 8 o AaﬂtB%m%mﬂw

(1) #1928
(2) = 1,007
(3) 71,192
(4) ¥ 1,857

(5) 3 T 1wy

i

84. ‘Tﬁﬁaﬁm%mﬂﬁiﬁﬂiﬂﬁnﬁﬁﬂh-m
%m%mmaﬂzﬁmmﬁm%?

(1) 11:5

(2) 5:11 l‘:; lgb
-3 5:6

(4)

® 3

85. UF wilz # 7 18,700 ¥ &= W, =% wifers &)
15% 1 &1 & R | 16% ww ¥ v a7 @iz )

82.

MI

- (4)

. (5)

The cost of a solid cylinder of radius 14 m

height 3-5 m, when the cost of its meta] is )
86

per cubic meter, is :
(1) . T 1,09,800

(2) ¥ 1,00,208
(3) < 1,07,800
< 1,08,000

(5) Not attempted

A started a business investing ¥ 38,000. Ay
5 months, B joined him with a capital] | 8
¥ 95,000. At the end of the year, the total prof
was T 22,000. Which out of the following is

approximate difference between the shares :
profits of A and B ?

(1) ¥ 1,928
(2) ¥ 1,007
(3) ¥1,192
4) 71,857
(5) Not attempted

If an article 1s sold at 20 percent profit, then
whfmh of the following is the ratio of its cost price
to 1ts selling price ? |
(1) 11:5.

(2) 5:11

(3) 5:6

4) 6:5

Not attempted

When a plot is sold for # 18,700, the owner loses

o & &= 2 Follow us on Telegram - "IndiResult.in” 15%. At what pri
_ _ price must the plot be sold in order

(1) % 25,800 . 0 gain 15% ?

(3} ? 22’500 YOUR !-Ul:.{‘.'lil PARTHNE {2) {: 21,000

D 25500 ' (3) 22500

(5) v T 2y e 4) 225300

(5)  Not attem
pted
RAMA/C1/Page 18 e T % & fo10 T/ SPACE FOR RouGH WORK ~
e 30090 J )2

L

(2’?/000 -J#/}@
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Which of the following is used to ensure accuracy

86.
qeih ('aﬁiﬂ?) ad91 favaad ﬁ ” and reliability of data in the dataha.se?
(1) 3REY 7R (1) Database Instance % INDIRESULTE
(2) m FEﬁTTTI (2} DﬂtﬂbﬂEE _Schema
(3) TRMEH Fg (3) Database Constraint
(4) SIE Tl (4) Data Dictionary
ttempted
(5) . I @I AT ATEA (5) Nota
: he following statements is correct
ﬁﬁﬁ!ﬁiﬂ- freT frard smeEfeemT |87 Which one of t
o il g about Uniform Resource Identifier (URD?
ahabbatol - ] ddress that can be used to
' Yoad F WAS (1) It is a unique a o
(1) 98 'Uﬁ? ‘E‘ﬂm Q?!-a % ﬁiﬁ'—’ A unqulﬂl)’ idEﬂﬁf}' each node in a network.
ﬁsaﬁmaﬂﬁ:ﬁmmm%l %) Itisasetﬂfnﬂeswhjchisusedtoretrieve
(2) =g fradl &1 TF T ? o g 9 linked web pages across the web.
ﬁg—ggqaaﬁﬁlmﬁmmmil 4) 1t is a unique address or path for each
(3) I 94 T ITTH S w0 T ~esource located on the web.
- vth
(aqﬁ;ﬁ'q) 11;3',9 HUar 99 B | 4) It is a unique \falue ass@ated wil ' a f
| | y
(4) 9T Joge U= 2 EJ,@ Th W aﬂ% | network adapter.
ttempted
(5) I AE A e (5) Not attemp
f .
| i d Yahoo are examples 0f _——
o TEE & ? 8. Google, Bing an
iy et AT ¥ A
51 e S— (1) Firewalls
(1) - (2) Search Engines
1/14) } Fé LA m (3? Mobile Applicﬂﬁﬂﬂﬂ
N Figzaat (4) .~ Software
{4)- (5) Not attempted
(5) I e & e Follow us on Telegram - ”./'ndiResu]tﬁg;_zl ::e?
37 g9, Which of the following i th€ correct 84 -
ﬁ-;a‘f%lﬁﬂ'ﬂ ¥ cac el dEl A & . Zettabyte > Gigabyte > Tera
% Spraree > mETEe > TR (1) Petabyte | o> Mogabyte
S () = o HTETEeY (2) KiluB}'tE:PetabYte"Y“tta yte Giaabyts
qreETEe >
fpaAgEe > foqeraEe > 5 Kilobyte > Terabyte > 18
- raTEe :-fhminsz,}/ (3) Megabyt Gigabyte
-a—;rn‘a'[gz > W > ) > Petahyw > Terﬂb}'tﬂ >
(3) ez > FATATEE (4) Exabyte
(4) TR > (5) Not attempted
argd -
(5) FTRAAGTC s 1 SPACE O ROUGH WORK
RAMNC“PHQE 1

g @ wpigasus ¥ T8
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9. ypgm . T | )
ﬁi[-ﬁq%m@ A ¥ Ay gy 3 gau A EeEd 3

. P T B2 2

M Heitfi e o v

(b) WU Hviy ity 3o de @0 9 @ S
a"‘"mmtl |

O HEYE weive faige @) af 50 I & 4G
T & stanfy 1 syaaear @ £ |

9 R Fe A ey 1 w77 AR

(1) (a) 3 (b) |

£2)  (a) 3K (o)

(3) *ad (b)

(4) %ﬂa{c}

(5) IV & 3 wrwa

91 Frfufad &  #a 3w ‘G s #9 T &
IR # 7
(a) Hma
(b) EYH ST ImfET
() Sl
(d w9
= w0 g2 @ v fagew w1 w9 Hifv -
1) ®mw@ :
(2) (a) 3 (b)
(3) ()3 (c) 1
(4) (a3 ()
(5) 3ut &l 21 =R
- T S, o B P
T, _ |
g & F-Ht ofieff 2 3= @
(a) 3@ ¢ Fetvelt grn @ wn o |
(b) wearft vg & a7 4 w Gfw e =

90.

R ——— N - ril

1 ' Etﬂtﬂmenm .
Which among the following v
correct with regard to the amendment ﬂf:ﬁ

Indian Constitution ?
(a) Parliament has the power to ameng y
part of the Constitution except for Part Iy

A Constitutional .Amendment Bill can o

be introduced in the Lok Sabha. _
The Constitutional Amendment Bill Ong
passed needs the assent of the President,

Choose the correct option from the codes giy,,
below : :

(b)

(c)

(1) (a)and (b) g

(2) (a)and (¢) 6:’0 INDIRESULTH
(3)  Only (b)

(4) Onlyle) .

(5) Not attempted

Which among the following countries would be an

example of ‘coming together’ federation ?

(a) India - |

(b) U.SA.

(¢) Australia -

(d) Spain |

Choose the correct option from the codes given
- below : - " |

(1) (b)and (d)

(2) (a)and (b)

(3) * (b) and (c)

(4) (a)and (¢)

(5) Not attempted

Which among the following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the
British in colonial India ? '
(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be

aara @t stationed in the territo
‘ _ ry of the ally.
(c) F'E"-':l}f’ﬁ q& 'ﬁ'ﬂ:ﬂ A TMHH a'; a1y ﬁ :Hﬁ:' qﬁ (¢) The ﬂll}" could never get into agreements
FGF | with any other rulers.
(d) fafew ggarft vag i Faa Al FHfaai @ (d) The British were to protect the ally only
& w0 | from the internal threats to power.
#ra faw e e & @ fawey &1 977 HIQ : b‘i‘;ﬂf‘* the correct option from the codes given
(1) ;:a 3T (d) (1) (a)and (d)
(2) (b) (2) Only (b)
@ (@ (#)INDIRESULTE @ () and (b
(4) (a), (b) 3 (c) (4) (), (b) and (c)
(5) IaX TEl 27 9ed (6) Not attempted
RAMA/C1/Page 20 @ w1 % foru ¥4 | SPACE FOR ROUGH WORK
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g, fr=feiiad # & fom wnfes @1 wim Rl & B
7 % T fen s 2 0

(1) FAH -
giterefi=
ff ft =t

AheTTee

(2)
(3)
(4)

(5) T € &A1 =TEd

a S 2020 7 FHE

PARTMNER

(#)NDiRESULTE

Which of the following plastics is used for making
electrical switches ? '

@lNDlRESULTE

RRRRRRRRRRRRRRRRRR

93.

(1)
(2)
(3)
(4)
(5)

Bakelite .

What was the slogan of the Patient Safety Day
which was observed on 17% September 20227

«Health With Yoga™
«Health Without Medication”
«Meditation Replaces Medication”

(1)

(2)

(3)

(4)
- (B

«Medication Without Harm”

Not attempted

. of the plant group Whose
and are usually

Gymnosperms )
Angiosperms
Pteridophyta

(5) Not attempted

In Olympics, India
Jumber of Gold Medals ©
since 1900 to 2020 ?

(1) Wrestling
(2) Shooting
(3) Hockey
(4) Boxing

. (e Not attempted/

Follow us on Telegram - "IndiResult.in”
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Follow us on Telegram - "IndiResult.in” 07. In a Market Equilibrium figure, if the 1, P
™,

97. mm g Tanfyg i, af2 g a% arf AN # ﬁT:E curve shifts leftward anf thEhS:FPIJLEHne ship,
AT wHadl B, : d simultaneously, what 1s the j
2w & o "4 F ofd am 4 aﬂ! A ;chgl:it::rl;u::?rice? Impact%
(1) F-#; P R 7 s R (1) Remains undecided
(2) ; wm (2) Decreases .
3) =em - 48) . Inerasses @/’) INDIRESULTE
4)  yufaf (4) Remains constan
wm (5) Not attempted

98. Selling off a part of the equity of a Public Sect, |
Enterprise (PSE) to the public is called -
l

(1) Communisation

98. felt wwTlt i & ywwm (dpwd) FEED P T

NI H Hiea s w9 § den w wEA € 7 (2) Nationalizati
TarftaTor ationalization
(1)
(2) P | (3) Disinvestment
(3) fafaaw (4) Delimitation
. (5) Not attempted
(4) vy

India’s first nationalist art school was established
in which University in 1919 ?

(1) Allahabad University
(2) Aligarh Muslim University

(5) I 7ET 27 =TEAd 99.

99. YNNG W1 YgSAT UgEE He fawem 99 1919 # fFEw

ferafarener 4 wafim fam man an 2
(1) ez favafyaea (3) Visva-Bharati University
(2)  srefiTg wfeem favataem (4) Banaras Hindu University
' (6) Not attempted

(38) fava-wndt favafaamy
100. Which of the following waterways has been

(4) FAnE fe=; fazataara declared by the Government as the National
(5) 3Idt 381 291 9rEd Waterways NN-W. No. 2?7
. (1) Specified Stretches of Godavari and
0. frefefaa semr 4 @ fEg Jemnt ) g o Krishna rivers along with
- WWWZ*F'J&WWW*? ::El-?:ﬂda - Puduch.erry Stretch of Canals
(1) FrHHATET - gg=lt T8 e & wa-H e 2 Th ka} . |
o W:ﬁ!ﬁ 5 ffSe wm (1078 f 1) e | anga river between Allahabad and
& wer M 4 Haldia (1620 km)
(2) m 1:"; gfeea (3) Th: DI;rahmaputra river between Sadiya
A an ubri (891 km)
2} ;ﬁ: a:n tglrﬂ % wen swya 74 (891 f&.41.) (4) The West-Coast canal in Kerals
) FE R ATEmada A (Fggm - g, (Kottapuram - Kollam, Udyogamandal and
e 7 F9FH TE -~ 205 .. ) | Champakkara Canals ~ 205 km)
(5). 3 & 27 =R - (5) Not attempted . R
VA Page 22 % & Forg car | SPACE FOR ROUGH WORK
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